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Your cell phone was turned off
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Finding that there is a missed call on the mobile phone, Yamamoto calls back...
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REFHLRA T

Your cell phone was turned off

R L & W
A

IFre, v AT AEARAE I o

i ff3] New Words

K o G Fk R T X @A IRAE PEAR

ARALRIE

T (B) le

EA (%) zénme

E3 (3h) jie

G (3h) dai

=% < &4 houtian

A K (%) gidntian
121 (Z1.4)  jianyi
k& (%) lisht
HpiE (o) béwgudn
FI, (3h) canguadn
& (%) tongyi
A (3h) shangliang
P (&) duimian
1RAE (4) fangudn

(a modal particle ) L

why
to receive (a phone call), to answer
( the phone)

to take, to bring, to carry with
oneself

the day after tomorrow

the day before yesterday

to propose, to suggest; proposal,
suggestion

history

museum

to visit

to agree, to consent, to approve
to consult, to discuss, to talk over

(sth. with sb)

opposite

restaurant

21 Answer the questions

1. PRSI THIE 17

2. INAZ R P HIE TA? IA?
3. KREFIAF L
TN Z R

5. K PAIL e B L flH-4

6. At fi TEAEMR L LTE 2
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IR

. Elementary Book One

FA7X%% Notes on Language Points

BRBRYT”:S + V(+0 )+ T
The modal particle “T7”: S + V(+0) +7T
THRREBHERT ,ZFFH,

) 1 ¢ ST 1) S B 1B o RV 22/ SO o] o &/ AT

X i .

The modal particle “ 7 is used at the end of a sentence to indicate that something or

some situation has taken place. Try to compare the following two dialogues:

@A : B RAR ZARILY?
B . ﬁ%‘lﬁb&o

@A : FERAREFILT ?
B . ﬁ%‘lﬁb&—f o
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REFHLRA 7

Your cell phone was turned off

BRENE T HRA:

The usage of the modal particle “5”:

S Vv (0) 7
sEX WX xE x T,
EAK & % w¥ T
,,,,,,,,,,,,,,,, s #®#=*v ©
BELX X P53 & %
AR KM KK A v,
77777777777777777777777777777777 s vV ©o T
HE R %5 k& 757
AR AR % ¥ 79
- s v ©)  T&EHE
gEX R £k & TRA?
ERAK KM 1 ¥, % TR
7777777777777777 s viv ©o
WER =% k& kT
ERAR AR EFEAE w7

i¥= Note

1. B sl B % CR )7 A i« 17— B i, ol .
The negative form of a sentence with “ 1”7 is to add “¥& (A )” in front of the verb

and “ 7 at the end of the sentence must be deleted. For example:

DWRAZEBET . ERAZEE B
@ MR b RIEA E R, R T

U

Please compare:

R IZLTFIR Vv
HRELTFIRT o X
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